
Horizontal multiplication

Math in English

Multiply the following numbers

1 9 =× 4 4 =× 2 2 =×

7

9

10 =× 10 5 =× 7 3 =×

4 3 =× 5 6 =× 6 4 =×

4 2 =× 7 7 =× 9 5 =×

9 8 =× 4 8 =× 5 9 =×

8 4 =× 5 5 =× 4 7 =×

8 6 =× 2 10 =× 5 8 =×



Horizontal multiplication

Math in English

Multiply the following numbers

1 9 =× 4 164 =× 2 42 =×

7 70

9

10 =× 10 505 =× 7 213 =×

4 123 =× 5 306 =× 6 244 =×

4 82 =× 7 497 =× 9 455 =×

9 728 =× 4 328 =× 5 459 =×

8 324 =× 5 255 =× 4 287 =×

8 486 =× 2 2010 =× 5 408 =×


